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Name __________________
Period _________________

Unit 2: Law of Definite Proportions (10 pts)
The following worksheet is to be completed while doing the Lab Simulation from www.latenitelabs.com.  Go to their website, login with the username and password given to you by your instructor, and find the lab entitled Law of Definite Proportions. Click on the lab name and then select “Run Lab”.  Follow the directions in the procedure of  the website and record all of your data on this worksheet. – Do not enter any data down in the “Assignments” section of the website, nor click on the “Submit Report” button.

Assignment 1 of Procedure 1

1. Calculate and record the following for the experiment performed with 20g KClO3:

     (a) mass of the crucible with manganese(IV) dioxide (in grams):



_______________
     (b) mass of the crucible after potassium chlorate has been added (in grams):

_______________
     (c) mass of the crucible after heating (in grams):





_______________
     (d) mass of potassium chloride (in grams):
	Formula :

(no numbers)
	

	Work:
	

	Answer:
	


     (e) mass of oxygen in sample of potassium chlorate (in grams):
	Formula :

(no numbers)
	

	Work:
	

	Answer:
	


     (f) mass percent of oxygen in potassium chlorate: 
	Formula :

(no numbers)
	

	Work:
	

	Answer:
	


2. Use a periodic table to find the atomic masses of the elements K, Cl and O. Record them below and answer the following questions to determine the theoretical percentage mass of oxygen.
A. K = ____________________       Cl = _____________________      O = ____________________

B. What is the total mass of KClO3? (1 K atom, 1 Cl atom, and 3 O atoms)

_______________

C. What percentage of the mass of KClO3 is from oxygen? (show formulas and work below)
Theoretical percent mass of oxygen in KClO3 = ___________________________

3. Calculate your percent error in the experiment by using the experimental value (answer to f of Part1) and theoretical values (answer to C of Part 2) of the mass percent of oxygen. The percent error is defined as:

     |(experimental value) - (theoretical value)| / theoretical value * 100%
4. How well does your experimental result match the theoretical value? What sources of error may explain the discrepancy?
